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(8] SAARC
Which 1= the most commmon i
{al Sales

(ch Prof-Loss

raining sinec morming when yiru

(4] Had been

(cl Have been

{c)  Blaise Pascal
*(_ 6./ Which of the following is billionth of a second?

(a) Nanosecond

&) Terabyte

(a) .Jpe
(c) .doc

(a) Cuolic
(c) Cilx
9.  Which of the following is not a cyber crime?
{a)  Hacking
(c)  Plagiarism

e
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) Has been =
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d) Having b

Which of the following is a valid file extension for Motepa

(hy O AD
i) LIME?

wlopim
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4. The L.C.M of 22,54, 108,135 and 198 is 4
(@ 330 (b) 1980
. fed 5940 (d)y 11880
\5 | The basic architecture of the computer was designed by: £ "
_-/ : 5
(a)  Bill Gates (b) Steve Jo
@ Charles Babbage

i scond
(b)Y Micros 15

(@) Gigabyte
d file?

(by
@y All the above

Which one of the following shortcut keys is used to paste 4 file?

(b) Ctritp
(d) Ctritv

(b) Phishing
(d) Using licensed software

AS per 2011 report which among these states has highest literacy rate?

(b) Kerala
{d) Maharashtra

10.
(a) Kamataka
(¢) Gujarat
11. How can anti-virus protect your computer”?
°  (a) Itcan protect the computer from getting overheated
(b) It can increase the performance of the computer

(c) It can prevent data from getting corrupt

(d) Itcan back up data
12. She her house seven days agoe

(b) Leaves
d) Left

b) Super 301
d) Compagq Presario

(a) Leave

(¢} Leaving _

What is the name of supercomputer developed by Indians?
a)  Blue Gene
S e
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__l.F‘ Gickla Brick () Girinder: Tadlor i
7230, and Ra 6562 for five conseculive rvoritha. How

has o sale of s 6435, Rs (027, T GRSS, RS

PT. -1 };mccr
£ mouch sole must he have in e sixth otith a0 that he gEets an average sale of By G500

E.in 5407 (b} ]
() 109 Gy ARl
o the hottom in & class, How many studenis are there

plonica canks seventh from ihe top and twenty sinth i

18 i
in the class
(@) 32 (b} 24
g o (d) 3%
¢l test an Jamimu. 60% hoys and 0% girls cleared the cutoff of the exarmination. 1f
ed in the examination?

nis took a mo

ber of stodents qualifying 18 E%‘ how many gitls appear

10, 1£ 400 siude

the total nam
@~ 100 (o) 120
() 180 {d) 220
;‘-w, Complete the series: kit ____?.L]. 2k
@ 7 by 16
@ 5 () 14
1. Communication ___ become very sy due to smart phones.
1 fa) Is (by has
| __[c} have (d) had
2_1_ ':rwinkhllg of stars 15 due to which optical phenomenon:
L f(g’]' Reflection {b) Interference
{c) Divergence (d) Refraction
' ﬁ 23 A i'-_:B's sigter, C is B's mother. D is C's father, E is D's mother. Then how is A related 1o D7
. (b) Daughter

(3 Granddaughtct
Frad Grandmaother (d) Grandfather

at that storg urn t ollege

| it was fime o leave for o

| Piae ¥
| 24, Icontinued
(b) At working

M_/{n} Kept working
{c) For working (& To work
| 75, Pointing 1o Jady, Sonia said, "She is the sister of the father of Ty mother's son. "Who is the lady to Soni
(a) Niece (b) Mother
Aunt (d) Sister
{ 26, Fill in the blanks with appropriate words:
. The countries which still undergoing {he economic Processes___ called developing countries.
@ Are, Are (b) Are,ls
(d) Were, Were
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e fihe followmg industries use lumestone as ras materia
» C ement b) e
M Stoel dy Sugar
3 i ueed in thermal plants
al Uranium b)) Thonum
(= Fossil Fygly (d} Adr
36 In which of the following states is black soil found?
(a)  Rajasthan (b) Jharkhand
de)  Gujarst (d) Jammu and Kashmr
37. How many times the hands of a clock coincide in a day?
&) 44 b) 12
o, ©) 12 d) 1
' 38, How many parliamentary scats did the erstwhile state of Jammu Kashmir have?
W 7 b) 6 Ex
& 5 () 4 ;

39. Amange these words in alphabetical order and tick the one that comes last
1) Abanden, 2) Actuste 3) Acgumulate 4) Acquit 5) Achieve
8 Acquit 1 \- b

¢ Actuale d)

Achieve

Accumulate

'
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e
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The gravitational pull Gy Kishangungs i
Lk d pullof  cawses the rise of s i e Projec
cn hu‘k @) oo s ol sep-water durng wigl e
& Venus (b} SHun
. Which Hindi wansla : AR
4 3] e ted novel won Intemationsl Booker price recenthy
ided ¢} Ret Samadhi atlyi dhansst Fani
a1 Madiya ke Pans

Which of these passes are not in Unfon Territory of Tad kY
I Ladakh?

y  Fomia
(cl Khardung La

(o) Fohtang La
[d) ChangLa

i/ ho anonE these cricketers from Jammu and Kashmir have not played in 1PL?
in 1PL7

{a) 1w hfalik
{c) Tan Dieyv Singh="

(b} Parvez Rasool {
(@) Abdul Samad ;

45, AL prosent who among thesc 15 not a wnind minister?

() siecnakshi Lekhi
(©) Anupriya Patel

ib) Harsimrat Kaur Badal
{d) Smriti [rani

47, Wha is the current speaker of Lok Sabhal

y (a) Maneka Gandhi
{©) Piyush Goyal
4§, Carbon dioxide causes:
{a) White house effect
{c) Red house effict
musician Shiv Kumar Shat

40, Indian
[a) Tabla
ic) Violin

5. Who is the commander in chief of 1
(a) Prme Minister of India
(c) Defence Ministet of India
51. What are the problem
(a) Global warming
(c) Degradation of catchment 8re3
52, What is mcan
(a) [Jeath Sentence =

5 cansed by forest fires?

by Capital punishment?

() Venkiah Naidu
{ﬁ} Om Birla

o) Green house effect
{dy Black house effect

rma died recently. Which instrument did he master?

{b) Santoor
{d) Sarod

ndian defence forces?

b} president of India
{d) Leader of the opposition

(b Depletion of ozone layer
i Al {he above

(b) Lifcimprisnnmcm
(d) Punishment given i

(c) punishment given to the captains of 2 ship |
st j horder with Pakistan or Pakistan Occuph
f 1 of these districts doesp'thave d
,# Whl(:h 0 “ﬂ S 2
(a) Reast L

n the capital city
o Kashmir?
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61, Which of these states have never been ruled by & woman Chief Minister?
fay  Punjab’ (b} Ha.l-'_','anu
(e}  Bihar (d} Gujarat
B2 Unit of electric power may also be expressed as:

{a)  Walt second {b) Ampere Hour

(c)  Volt Ampere {d) Eilowatt houg.- {a} Biomass
63, Humans have two different sex chromosomes, X and Y. Based on Mendel's law; a male offspring wiy| inhery (s) Solar Enexy
wihich combination of chromosemes? & Ome-cell-thick ve

{2}  Both the X chromosomes from one of it parents ) Veins

{b)  Both the ¥ chromosomes from one of its parents {cy- Capillarie
f¢)  Combination of X chromosomes from either of its parents B Wiich of these |
(d¥  Combmation of X and ¥ chromosomes from either of its parents ~ {a)  ApniPa
64, Election symbol to a political party is allotted by whom? (B AamAa
{ar Election Comission of India {b) President of India .lq:f':-.Bn:h carpon &
{e)  National Human Rights Comission {d) Chief Justice of India - la)  Colarle
@ Chernobyl nuclear plant is in which country: (¢y Heavie
¢  FEstonia (b) Ukraine 18, Who formed
{c)  Belorussia (d) Kazakhstan L (@ Jawal
. et et v DEPRESSON v g, i, OV
: , Which of the following would be the seventh letter from right? By CR
(@ O b)) P (& Sub

B R @ s
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by Foisthe symbol of:
E {a) Alninim
F: eh

The reaction in which two compends exchar Be thei

(8] Redox reaction
F fcl Displacement reaction
P e missing alphabet in the EIVED Sequence:

AZLY.BC_ WD

(F

o X

(a)  Nilgris
¢} Shivaliks
?} The driving force for amy cEl-system s
{z) Biomass
1ale aﬂ"spn’ng will inhm}« () Selar Energy

15, |One-cell-thick vessels arc called:

(a)
{cl- Capillarics
6 Which of these political parties did not originate in
‘(a)  Apni Party
(£ Aam Aadmi Party
#7 Both carbon dioxide and hydrogen gases are:

Veinz

(b}

[ Opper
() Silver

T10ns o form twg NEW Loy
L 1

s s af)
() Combination reaciion =

Adt Double Uisphicement reaeting

(b) R
d p

'@/Whjch of this mountain range is nat in Jammu and Kashmir?

{b) Pir Panjal
{d)  Trikuta Hills

(b} Liquified Petralenm Gas
{d) Carbohydrates

(b} Arteries

{d) Muscles
Jarmenn and Kashmir?
(b} Panthers Party
{d) Ekjutt Party

(b)  Acidic in nanre

(a) Cuolorless
(c)  Heavier than air {dy Soluble in water
8. Who formed the Swaraj Party within Congress?
‘(a)  Jawahar Lal Nehruand MK Gandhi
B R Ambedkar and Rajendra Prasad
1d the fourth letters, (b) m ; -
-from right? (¢)  C.R Dasand Moti Lal Ne _
1 (d) Subash Chander Bose and Khan Ahdul Ghaffar Khan
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; Who s WITKET the play pgo oy o wot? iy
2 Gurdis
o i i () Kalidgs
Cabir Dag
i) Ka ) (d) Megrg Baj
Thechildren_ o tha field noy
s !
) Has played () i-’la:,-
Wis Playved () Pl
¥5
- Asikini is the anejeq; BAmE of wijep, miver?
) Thelam (B)  Rai
() Beas ! {d)  Chenah
@ Whowas the first defens, Minister of I}
(a)  Sardar Vallabhai pay (B} Rajendry Prasad
i) B.R Ambedkar (4 Baldey Singh
@, Which of the following triangles have the Same side length:
tory of a) Scalene

{c)  Equilateral

fal  Christopher Columbys
&) .‘-El'cund'Sﬂ-ﬂE

10, Whe among these travelers never came to Indig?

L OF Indian { '|:|I:\||||||||," r

(b) Tsosceles
(4} None ofihe above

(b}  Vaspo Dg Gama
() Tbn Bamta
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